COCHIN PORT AUTHORITY

www.tenderwizard.com/CPT

Quotation No:T1/Q-10/2022-C Date:03/08/2022

Name of Wok:"Providing signage & sign boards at GoI Base Unit (Kochi) [Re quotation]."

SCHEDULE- A- SCHEDULE OF QUANTITIES OF WORK

	Please Ente						
Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
1	Standard marking on Bollards - 18 Nos. 50 T Bollards & 16 Nos. 10 T Bollards using Marine Grade Enamel Paint (Total 34 Nos.)		LS	16500.00	Rupees Sixteen Thousand Five Hundred Only	16500.00	Rupees Sixteen Thousand Five Hundred Only
2	Fabricating and placing Potable Metal Stand type 'PARKING' boards using 8mm thick MS Plate at bottom, 2" OD Medium MS Pipe for posts, 1.50mm M.S Sheet for boards for 18" x 8" size boords of height 75cm painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in- charge.	4.00	One Number	2800.00	Rupees Two Thousand Eight Hundred Only	11200.00	Rupees Eleven Thousand Two Hundred Only
3	Fabricating and placing Potable Metal Stand type 'NO PARKING' boards using 8mm thick MS Plate at bottom, 2" OD Medium MS Pipe for posts, 1.50mm M.S Sheet for boards for 18" x 8" size boords of height 75cm painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in-charge.	4.00	One Number	2800.00	Rupees Two Thousand Eight Hundred Only	11200.00	Rupees Eleven Thousand Two Hundred Only

Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
4	Providng Car/ SUV parking lines at Amba entrance gate using high quality approved Floor marking paints including cost of all materials, labour, etc. complete as directed by the Engineer- in-charge.	7.00	One Number	1400.00	Rupees One Thousand Four Hundred Only	9800.00	Rupees Nine Thousand Eight Hundred Only
5	Room number marking by engraving on high quality 0.90mm thick Brass sheets of size 2" x 1.50" & Black paint for doors of Amba, Pump House, Naval Bridge Security Building, Drishti Building including cost of all materials, labour, etc. complete as directed by the Engineer-in- charge.	30.00	One Number	200.00	Rupees Two Hundred Only	6000.00	Rupees Six Thousand Only
6	Painting and letter writing on the Drishti Building main board using good quality Synthetic Enamel paint including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.		LS	4500.00	Rupees Four Thousand Five Hundred Only	4500.00	Rupees Four Thousand Five Hundred Only
7	Providing and fixing Key Board numbering by engraving on Brass sheets of 0.90mm thick and size 1" x 1.50" at Amba Key Board including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.	30.00	Each	180.00	Rupees One Hundred Eighty Only	5400.00	Rupees Five Thousand Four Hundred Only
8	Providing Boards of size 5" x 7" inscibed with "Danger High Voltage" using 4/5mm Foam Board with Vinyl Sticker or HP latex Print for Electrical Boards including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.	C 00	Each	575.00	Rupees Five Hundred Seventy Five Only	3450.00	Rupees Three Thousand Four Hundred Fifty Only

Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
9	Providing Boards of size 10" x 16" inscibed with "Out of bounds" using 4/5mm Foam Board with Vinyl Sticker or HP latex Print for Pump House & Amba building including cost of all materials, labour, etc. complete as directed by the Engineer- in-charge.	2.00	Each	575.00	Rupees Five Hundred Seventy Five Only	1150.00	Rupees One Thousand One Hundred Fifty Only
10	Providing Boards of size 8" x 14" inscibed with "Photography Prohibited" using 4/5mm Foam Board with Vinyl Sticker or HP latex Print for Oil tanker on jetty including cost of all materials, labour, etc. complete as directed by the Engineer- in-charge.	2.00	Each	575.00	Rupees Five Hundred Seventy Five Only	1150.00	Rupees One Thousand One Hundred Fifty Only
11	Providing Boards of size 8" x 14" inscibed with "Phighly Inflamable" using 4/5mm Foam Board with Vinyl Sticker or HP latex Print for Oil tanker on jetty including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.	2.00	Each	390.00	Rupees Three Hundred Ninety Only	780.00	Rupees Seven Hundred Eighty Only
12	Providing Boards of size 16" x 4" inscibed with 'Conference hall" by engraving on 0.90mm thick Brass sheets and Black paint with PU Clear coating for long duration for Amba & Drishti buildings including cost of all materials, labour, etc. complete as directed by the Engineer-in- charge.	2.00	Each	1600.00	Rupees One Thousand Six Hundred Only	3200.00	Rupees Three Thousand Two Hundred Only

Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
13	Providing Boards of size 3" x 12" inscibed with 'Director" by engraving on 0.90mm thick Brass sheets and Black paint with PU Clear coating for long duration for Amba & Drishti buildings including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge. 2 Nos.	1.00	LS	1300.00	Rupees One Thousand Three Hundred Only	1300.00	Rupees One Thousand Three Hundred Only
14	Providing Boards of size 14" x 3" inscibed with 'Head of Office" by engraving on 0.90mm thick Brass sheets and Black paint with PU Clear coating for long duration for Amba & Drishti buildings including cost of all materials, labour, etc. complete as directed by the Engineer-in- charge. 2 Nos.	1.00	LS	1450.00	Rupees One Thousand Four Hundred Fifty Only	1450.00	Rupees One Thousand Four Hundred Fifty Only
15	Providing Boards of size 3" x 10" inscibed with 'HE & SHE" with Image type by engraving on 0.90mm thick Brass sheets and Black paint with PU Clear coating for long duration for Amba & Drishti buildings including cost of all materials, labour, etc. complete as directed by the Engineer- in-charge.	4.00	Each	1200.00	Rupees One Thousand Two Hundred Only	4800.00	Rupees Four Thousand Eight Hundred Only

Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
16	Providing Goverment of India Warning boards in English & Malayalam language at GoI sites located in Willingdon Island. Board are with 6' x 4' 4mm thick ACP Sheets fitted on 2" GI Square Tube with a height of 6 feet above Ground Level fixed using 1:3:6 cememnt concrete. Length of post under Ground Level shall be 1.50 feet and size of concrete block shall be 30cm x 30cm x 60cm including cost of all materials, labour, painting all steel members with one coat of Iron primer and 2 coats of Synthetic Enamel paint etc. complete as directed by the Engineer-in-charge.	6.00	Each	18900.00	Rupees Eighteen Thousand Nine Hundred Only	113400.00	Rupees One Lakh Thirteen Thousand Four Hundred Only
17	Marking "STICK NO BILLS" on compound walls by stencil work using PO Red colour Synthetic Enamel paint including cost of all materials, labour, etc. complete as directed by the Engineer- in-charge.		Each	75.00	Rupees Seventy Five Only	9000.00	Rupees Nine Thousand Only
18	Providing "No Smoking" boards of size 45cm x 18cm using 4mm thick foam board including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.	2 00	Each	250.00	Rupees Two Hundred Fifty Only	500.00	Rupees Five Hundred Only
19	Providing boards of size 90cm x 35cm inscribed with "Restricted Area- Authorised Personal only" using 5mm thick foam board including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.	2.00	Each	1775.00	Rupees One Thousand Seven Hundred Seventy Five Only	3550.00	Rupees Three Thousand Five Hundred Fifty Only
20	Providing boards of size 35cm x 15cm inscribed with "Muster Point" using 4mm thick foam board including cost of all materials, labour, etc. complete as directed by the Engineer-in-charge.		Each	320.00	Rupees Three Hundred Twenty Only	640.00	Rupees Six Hundred Forty Only

Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
21	Fabricating and placing Potable Metal Stand type ENTRY boards using 8mm thick MS Plate at bottom, 2" OD Medium MS Pipe for posts, 1.50mm M.S Sheet for boards for 90CM X 50CM size boords of height 75cm painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in-charge.	4.00	Each	2800.00	Rupees Two Thousand Eight Hundred Only	11200.00	Rupees Eleven Thousand Two Hundred Only
22	Fabricating and placing Potable Metal Stand type EXIT boards using 8mm thick MS Plate at bottom, 2" OD Medium MS Pipe for posts, 1.50mm M.S Sheet for boards for 90CM X 50CM size boords of height 75cm painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in-charge.	2.00	Each	2800.00	Rupees Two Thousand Eight Hundred Only	5600.00	Rupees Five Thousand Six Hundred Only
23	Fabricating and placing Potable Metal Stand type boards inscribed with "No Garbage to be thrown" using 5mm thick Foam board of size 60cm x 20cm, 2" OD Medium MS Pipe for posts of height 75cm painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in-charge.	2.00	Each	1800.00	Rupees One Thousand Eight Hundred Only	3600.00	Rupees Three Thousand Six Hundred Only

Sl. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
24	Fabricating and placing Potable Metal Stand type CAUTION boards using 8mm thick MS Plate at bottom, 2" OD Medium MS Pipe for posts, 1.50mm M.S Sheet for boards for 90CM X 50CM size boords of height 75cm painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in-charge.	2.00	Each	2800.00	Rupees Two Thousand Eight Hundred Only	5600.00	Rupees Five Thousand Six Hundred Only
25	Providing "Work In Progress" boundary marking portable metal stand with rope as per standard model available in the market with MS Metal pipe stand of 40mm OD with base plates and rope hhoks for inserting hooks painting with one coat of Iron primer & 2 coats of Synthetic Enamel paint including cost of all materials, labour, equipments etc. complete as directed by the Engineer-in-charge.	10.00	Each	1500.00	Rupees One Thousand Five Hundred Only	15000.00	Rupees Fifteen Thousand Only
	Total Amount (Rs.)					249970.00	Rupees Two Lakh Forty Nine Thousand Nine Hundred Seventy Only

SI. No:	Sub- heads and items of work	Approxi- mate Quantity	Unit	Departmental rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words			
		BIE	DDERS QU	OTING AREA						
		Departemental Estimated amount	Percentage quoted above/ below the Departmental Amount		Above/ Below					
Percer	tage quoted above/ below the departmental above schedule		In Figures	In Words						
	Notes : 1.The quotationer shall quote either plus (or -5) and in figures and words 2. Only two decimal digits shall be accepted 3.quotationers shall also quote Above themselves in the last column. 4.In case of discepancy in words and figure word will prevail	249970.00								
	" This is a Electronic Submission No Need of Signature"									